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QUESTION NO: 1

ACME runs on the PTO fulfillment model.

All the business rules for configuring the model are setup using Configurator, which makes it intuitive for configuring PTO 
models.

Which statement is true?

A. A routing needs to be defined for the PTO model.

B. Ship the model completely or the individual options. 

C. Process the configured item to generate the work order.

D. After selecting all the options, the PTO model must be processed to get the configured part.

ANSWER: B 

QUESTION NO: 2

Mary wants to perform the Pick Release process for delivery lines that have been booked. Which three options are valid 
approaches for her to use? (Choose three.)

A. Run the Auto Allocate process.

B. Run the Pick Slip Grouping process.

C. Use the standard Report Submission process (SRS).

D. Execute Online from the Release Sales Order window

E. Run a concurrent program from the Release Sales Order window

ANSWER: C D E 

QUESTION NO: 3

What is true about the Ship from Stock fulfillment model?

A. Every order must be reserved.

B. Every order can be Pick Released immediately after booking.

C. Every order line should create a WIP job of equivalent quantity.
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D. Stock is not shipped from the factory to the warehouse until receipt of the order.

ANSWER: B 

QUESTION NO: 4

Identify two Descriptive Flexfield components whose values are used to determine contexts.

(Choose two)

A. The context field

B. Global segments

C. The reference field

D. Context-sensitive Segments

ANSWER: A C 

QUESTION NO: 5

Identify two features of Oracle workflow in Oracle E-Business Suit Release 12. (Choose two)

A. Enhance data security

B. Helps you focus on managing individual business transactions

C. Has each activity in work flow as PL/SQL function or notification or a sub process

D. Can integrate business functions only between business process within a single company

E. Can integrate business process within an enterprise, as well as between different organizations and different systems

ANSWER: C E 

QUESTION NO: 6

ABC Corp uses Oracle E-Business suite Release 12 and wants to design an order status web inquiry screen to make order 
status visible to its customers online 

How can ABC Corp ensure that customers view only their individual order status?

A. By securing attributes for each customer

B. By excluding attributes for individual customers
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C. By assigning a separate attribute value for INTERNAL_CONTACT_ID

D. By assigning a same attribute value for CUSTOMER_CONTACT_ID

ANSWER: A 

QUESTION NO: 7

Typically, which type of customer environment would use pick release with a ship confirm rule?

A. customer using lot controls

B. customers using counter sales

C. customers using containerized shipping

D. customers using handled picking devices (MSCA)

E. customers with serial number controlled environment

ANSWER: B 

QUESTION NO: 8

What are the four required fields when defining a request set? ( Choose four)

A. Set

B. Owner

C. Set code

D. Application

E. Description

F. Active data

ANSWER: A C D F 

QUESTION NO: 9

XYZ Corp has operations in the U.S. and Canada. Within Canada, it has two separate Divisions due to Statutory 
requirements: one in Quebec and other in Ontario

How would you define the organization structure for XYZ Corp from the information given above?
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A. Two Ledgers, two Legal Entities, and two Operating Units

B. Two Ledgers, two Legal Entities, and three Operating Units

C. Two Ledgers, three Legal Entities, and three Operating Units

D. Two Ledgers, two Legal Entities, and three Operating Units

E. Three Ledgers, three Legal Entities, and three Operating Units

ANSWER: D 

QUESTION NO: 10

ACME attempts Pick Release process for delivery lines that have been booked.

Which three options are valid? (Choose three)

A. Run the Auto Allocate process.

B. Run the Pick Slip Grouping process

C. Run the Interface Trip Step process

D. Use the Standard Report Submission process (SRS)

E. Execute Online from the Release Sales Order window

F. Run a concurrent program from the Release Sales Order window.

ANSWER: D E F 
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